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Homework for lesson 6

0p. 41-45: read and do ex. 1 (p. 45)
0. 47 ex. 3
0p. 53-54: read and do ex. 1 (p.54)

Continue with grammar revision
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P. 39, ex. 6

Information prediction  distribution

pollution production communication
citation development introduction
solution detention conservation

removal belonging  transportation
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P. 45, ex.
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comma . semicolon
full stop OR period colon
question mark @ |at
exclamation mark / slash
omission marks OR ellipsis| = |equals
points
apostrophe * |asterisk
hyphen ° degree
[ ] |square brackets % | per cent
( ) |brackets OR parentheses “ » | guotation marks
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Now do p. 46, ex. 2

/' raebit/ /" bwtfa(r)/
rabbit butcher
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A rabbit goes 1nto a butcher’s shop and
asks, “Have you got any lettuce?”

The butcher says, “We don’t sell lettuce
here. You need the greengrocer’s across
the road.”

The next day the rabbit comes into the
shop and asks for some lettuce again. The
butcher tells him, “Look, I told you
yesterday we don’t sell lettuce! You need
the greengrocer.”
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The rabbit comes In the next day and asks
the butcher again, “Have you got any
lettuce?”

The butcher goes mad. He says, “Look,
I’m sick of this! How many times do I
have to tell you I don’t sell lettuce! If you
come 1n here again asking for lettuce, I’'m
going to nail your ears to the floor!”
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The next day the rabbit comes in and asks
the butcher, “Have you got any nails?”

“Nails? No.”

“Right!” the rabbit says, “Have you got
any lettuce?”
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P. 40 Model answers

1. Enrolment at university depends on having
passed the exam.

1. Students can enrol at university If they pass
the exam.

2. The task of writing (well) involves many
aspects.

3. The difference between foreign and Italian
students Is very clear.

3. There Is a very clear difference between
foreign and Italian students.



4. The course includes some grammar.
4, Some grammar is included in the course.

5. Six countries including France, Germany and
Italy have / offer these special degrees.

6. The task was not particularly difficult for the
students.

7. It 1s said that the research facilities are
Inadequate.

8. | found the content of the lecture very /
extremely difficult.
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9. The facilities must be updated immediately or
there will be a decrease in enrolments.

10. There was little Improvement in his level by
the end of the course because he had never
studied.
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Homework for Lesson 7

Read ‘Connectors and Clauses’ p.55
Do tasks 1 and 2

Read ‘Connectors and Transitions’ p. 57

P. 58, do task 1

Read pp. 61, 62 and do tasks 1, 2, 3

Read p. 51
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